
Paper 1
Calculator not allowed

First name  _______________________________________________

Last name  _______________________________________________

School  _______________________________________________

Remember
 The test is 1 hour long.

 You must not use a calculator for any question in this test.

 You will need: pen, pencil, rubber, ruler and a pair of compasses.

 Some formulae you might need are on page 2.

 This test starts with easier questions.

 Try to answer all the questions.

 Write all your answers and working on the test paper – do not use 
any rough paper. Marks may be awarded for working.

 Check your work carefully.

 Ask your teacher if you are not sure what to do.

TIER

5–7

KEY STAGE

3

Ma
20

08
Mathematics test

For marker’s use only

 TOTAL MARKS
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Instructions

Answers

Calculators

This means write down your

answer or show your working

and write down your answer.

You must not use a calculator to

answer any question in this test.

Formulae
You might need to use these formulae

length

height (h)

b

a

Trapezium

Prism

Area =    (a + b )h1
2

Volume = area of cross-section × length

area of cross-section
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Making ten, Decimals

1.  Write two numbers that add to 10

One of the numbers must be positive.

The other number must be negative.

+ = 10
1 mark

 

2.  Work out the following.

1.2 × 6 

1.2 ÷ 6

1 mark

1 mark
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Substituting, Boxes

5.  Write numbers in the boxes to make the statements true.

When x = then x + 3 =

When x = then 3x =

When x = then x
3  

=
2 marks

 

6.  Boxes of tins are delivered to a shop.

There are 37 boxes.

Each box contains 25 tins.

How many tins are there?

 

2 marks
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Solving

 (b) Is the answer to 11 × 3
1
2

 a whole number?

  
Yes  

No 

Explain your answer.

 

1 mark

 

8.  Find the values of x

5x – 3 = 12

x = 

13 + 2x = 3

x = 

1 mark

1 mark
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Coordinates

9.  Look at the square drawn on the graph.

A

x

y

0

( 5, 6 )

( 1, 2 )

Not drawn
accurately

Point A is the centre of the square.

What are the coordinates of point A?

 

A is (  , )
2 marks
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Expressions

10.  Match each expression on the left with the equivalent expression on the right.

The fi rst one is done for you.

3d + d

3

2d

3d – d
3d

4d

3d × d
2d2

3d2

3d ÷ d

2d3

2 marks
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Test results

13.  There are 25 pupils in a class.

The table shows information about their test results in maths and English.

English

Level 5 Level 6 Level 7

maths

Level 5 0 1 1

Level 6 2 7 0

Level 7 2 1 4

Level 8 0 1 6

 (a) How many pupils had the same level in both maths and English?

 (b) How many pupils had a higher level in maths than in English?

1 mark

1 mark

282671_p1_57.indd   14282671_p1_57.indd   14 3/12/07   11:37:39 am3/12/07   11:37:39 am



KS3/08/Ma/Tier 5–7/P1 15 

Square tiles

14.  The diagram shows a square with a perimeter of 12cm.

Not drawn
accurately

Six of these squares fi t together to make a rectangle.

Not drawn
accurately

What is the area of the rectangle?

You must give the correct unit with your answer.

1 mark

1 mark
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100 metres

16.  A pupil recorded the times of 23 people running the 100 metres.

The stem-and-leaf diagram shows the results.

13 6

14 1 3 4

14 7 7 8 9

15 0 1 1 3 4 4

15 5 7 8 8 9

16 2 2 4 4

Key:

13 6  represents 13.6 seconds

 (a) Two of the people ran the 100 metres in 14.7 seconds.

How many of them ran the 100 metres faster than this?

 people

 (b) What was the range of times?

 

seconds

 (c) What was the median time?

seconds

1 mark

1 mark

2 marks
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Equation, Cancelling

18.  Find the value of x

6 + 2x = x – 6

 

x = 
2 marks

 

19.  Work out

1 × 2 × 3 × 4 × 5
=

1 × 2 × 3

( 1 × 2 × 3 × 4 × 5 )2
=

( 1 × 2 × 3 )2

1 mark

1 mark
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Twice as far

21.  Point A has coordinates ( 4, 3 ) and point B has coordinates ( 10, 3 )

They lie on a horizontal line.

0–2 2 4

A B

6 8 10 12 14 16

2

4

6

Another point, P, lies on the same horizontal line.

P is twice as far from A as it is from B.

What could the coordinates of point P be?

There are two possible answers. Give them both.

 

(  , ) or (  , )
2 marks
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Red and blue cubes

23.  In a bag, there are red and blue cubes in the ratio 4 : 7

red : blue

4 : 7

I add 10 more red cubes to the bag.

Now there are red and blue cubes in the ratio 6 : 7

red : blue

6 : 7

How many blue cubes are in the bag?

 

2 marks
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Halving

28.  Ed writes:

 
1
2

 of 103 = 53

Show why Ed is wrong.

 

1 mark
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